Gamma Zinken

Sport experience

cod. SM6020150/ SM6020158

Paracoppa

Sump guard

GUIDA RAPIDA
QUICK GUIDE
KURZE EINFUHRUNG
GUIDE RAPIDE
GUIA RAPIDA

IT-EN-DE-FR-ES




ENGLISH

Thank you for choosing a Gamma Zinken product. We want to remind you that the installation of this product requires
specific knowledge, so we recommend that you take the motorcycle to the workshop for correct installation.

Gamma Zinken assumes no responsibility for incorrect installation.

Do not modify or alter the structure of the accessory, Gamma Zinken assumes no responsibility for damage caused by
tampering.

This product was designed for the original motorcycle, compatibility with third party accessories is not guaranteed. Always make
sure that the motorcycle is in order before installing this product, the installation of an accessory can cause a change in the
stability or behavior of your vehicle.

Always refer to the laws of your state regarding the installation of aftre-market accessories on your vehicle, Gamma Zinken
assumes no responsibility for an installation not permitted by state regulations.

Read this instruction manual before use and keep it carefully.

Intended use

* The product described in this manual has been designed to provide additional protection for your motorcycle when
deciding to tackle unpaved roads and off-road terrain.

GENERAL SAFETY STANDARDS

Preparation

Check that all the spare parts list is contained in the package.

Make sure the vehicle is parked in a stable and safe location that it cannot fall or move.
If necessary, wait for the engine and exhaust to cool down.

Always use the right tools and, if necessary, get a second person to help you.

Assembly

All the parts disassembled from the vehicle must be reassembled in the same way except those replaced by parts contained in this
package. Always put medium strength threadlocker screws on each screw to prevent the screws from loosening due to vehicle
vibrations

Final check
After installation, make sure that everything is assembled correctly and that nothing has come loose. After 50 km check the
tightness of the screws and the same at each maintenance.

A WARNING!

As for the safe use of your vehicle, you must refer to the vehicle user manual and the requirements contained therein.
Gamma Zinken will not be held responsible in the event of damage resulting from misuse or failure to comply with the
rules and behavior envisaged for accessories not described in this manual and for which Gamma Zinken does not know
the specifications.

*‘ENVIRONMENT PROTECTION

Separate waste collection so as to allow for eco-friendly recycling or elimination of the device helps to limit unwanted

The product must be disposed of separately from normal household waste when it reaches the end of its working life.
:g effects on health and the environment and favors the reuse and / or recycling of the materials that makes the device.
"

Note
The images represent the product by way of example. Any changes in shape, color and / or size do not affect its purpose and.
where present, are the result of its improvement.




Montaggio, mounting

Smontare il paracoppa originale e le due protezioni laterali degli
scarichi

Remove the original sump guard and the two side protections of
the exhausts

Entfernen Sie den originalen Olwannenschutz und die beiden
seitlichen Schutzvorrichtungen der Auspuffe

Retirer le carter de protection d'origine et les deux protections
latérales des échappements

Retirar el carter de aceite original y las dos protecciones laterales
de los escapes

Svitare la vite di supporto del motore da un lato

Inserire il distanziale, la piastra a S la rondella originale e avvitare il
tutto con la nuova vite. Eseguire I'operazione dal lato opposto.
Lasciare le viti momentaneamente lasche in modo che pe piastre
abbiano gioco

Unscrew the motor support screw on one side

Insert the spacer, the S-plate, the original washer and tighten
everything with the new screw. Perform the operation from the
opposite side. Leave the screws momentarily loose so that eg plates
have play

Ldsen Sie die Motorhalterungsschraube an einer Seite

Setzen Sie das Distanzsttick, die S-Platte, die Original-
Unterlegscheibe ein und ziehen Sie alles mit der neuen Schraube
fest. Fiihren Sie den Vorgang von der gegeniiberliegenden Seite
aus. Lassen Sie die Schrauben kurzzeitig locker, damit zB Platten
Spiel haben

Dévisser la vis du support moteur d'un coté

Insérez I'entretoise, la plaque S, la rondelle d'origine et serrez le tout
avec la nouvelle vis. Effectuez I'opération du cété opposé. Laissez
les vis desserrées momentanément pour que, par exemple, les
plaques aient du jeu

Desatornille el tornillo de soporte del motor en un lado

Inserte el espaciador, la placa en S, la arandela original y apriete
todo con el tornillo nuevo. Realice la operacién desde el lado
opuesto. Deje los tornillos sueltos momentaneamente para que, por
ejemplo, las placas tengan juego.




Smontare la piastra originale e recuperare le clip filettate da montare
sulla nuova piastra. Sostituire la piastra frontale con quella in
dotazione, usare le viti M8 testa cilindrica per fissarla alla'coppa
dell'olio. Usare una goccia di frena filetti medio sulla vite. Lasciare le
viti momentaneamente lasche in modo che le piastre abbiano gioco

Remove the original plate and recover the threaded clips to be
mounted on the new plate. Replace the front plate with the one
supplied, use the M8 cylindrical head screws to fix it to the oil pan.
Use a drop of medium thread locker on the screw. Leave the screws
momentarily loose so that the plates have play

Entfernen Sie die Originalplatte und stellen Sie die Gewindeclips
wieder her, die an der neuen Platte montiert werden sollen.
Ersetzen Sie die Frontplatte durch die mitgelieferte, verwenden Sie
die M8-Zylinderkopfschrauben, um sie an der Olwanne zu
befestigen. Einen Tropfen mittelgroBen Schraubensicherungslack
auf die Schraube auftragen. Lassen Sie die Schrauben kurz locker,
damit die Platten Spiel haben

Retirez la plaque d'origine et récupérez les clips filetés & monter sur
la nouvelle plaque. Remplacez la plaque avant par celle fournie,
utilisez les vis a téte cylindrique M8 pour la fixer au carter d'huile.
Utilisez une goutte de frein filet moyen sur la vis. Laissez les vis
desserrées momentanément pour que les plaques aient du jeu

Retirar la placa original y recuperar los clips roscados para montar
en la nueva placa. Reemplace la placa frontal por la suministrada,
use los tornillos de cabeza cilindrica M8 para fijarla al carter de
aceite. Use una gota de casquillo de rosca mediana en el tornillo.
Deje los tornillos sueltos momentaneamente para que las placas
tengan juego..

Smontare la piastra originale e recuperare le clip filettate da montare
sulla nuova piastra. Sostituire la piastra posteriore con quella in
dotazione, usare le viti M8 testa cilindrica per fissarla alla coppa
dell’'olio. Usare una goccia di frena filetti medio sulla vite. Lasciare le
viti momentaneamente lasche in modo che le piastre abbiano gioco

Remove the original plate and recover the threaded clips to be
mounted on the new plate. Replace the back plate with the one
supplied, use the M8 cylindrical head screws to fix it to the oil pan.
Use a drop of medium thread locker on the screw. Leave the screws
momentarily loose so that the plates have play

Entfernen Sie die Originalplatte und stellen Sie die Gewindeclips
wieder her, die an der neuen Platte montiert werden sollen.
Ersetzen Sie die Riickplatte durch die mitgelieferte, verwenden Sie
die M8-Zylinderkopfschrauben, um sie an der Olwanne zu
befestigen. Einen Tropfen mittelgroRen Schraubensicherungslack
auf die Schraube auftragen. Lassen Sie die Schrauben kurz locker,
damit die Platten Spiel haben

Retirez la plaque d'origine et récupérez les clips filetés a monter sur
la nouvelle plaque. Remplacez la plaque arriere par celle fournie,
utilisez les vis a téte cylindrique M8 pour la fixer au carter d'huile.
Utilisez une goutte de frein filet moyen sur la vis. Laissez les vis
desserrées momentanément pour que les plaques aient du jeu

Retirar la placa original y recuperar los clips roscados para montar
en la nueva placa. Reemplace la placa trasera con la suministrada,
use los tornillos de cabeza cilindrica M8 para fijarla al carter de
aceite. Use una gota de casquillo de rosca mediana en el tornillo.
Deje los tornillos sueltos momentaneamente para que las placas
tengan juego.




Verificare che i distanziali in ferro siano correttamente montati sugli
anti vibranti

Check that the iron spacers are correctly mounted on the anti
vibrators

Uberpriifen Sie, ob die Eisenabstandshalter richtig an den
Antivibratoren montiert sind

Vérifier que les entretoises en fer sont correctement montées sur les
anti vibrateurs

Compruebe que los espaciadores de hierro estén correctamente
montados en los antivibradores.

Avvitare le viti frontali interponendo la rondella tra vite e antivibrante.
Lasciare le viti momentaneamente lasche in modo che abbiano
gioco

Tighten the front screws placing the washer between the screw and
the anti-vibration mount. Leave the screws momentarily loose so
that they have play

Ziehen Sie die vorderen Schrauben fest, indem Sie die
Unterlegscheibe zwischen die Schraube und die

Schwingungsdémpfung legen. Lassen Sie die Schrauben kurzzeitig
locker, damit sie Spiel haben

Serrez les vis avant en plagant la rondelle entre la vis et le support
anti-vibration. Laissez les vis desserrées momentanément pour
qu'elles aient du jeu

Apriete los tornillos frontales colocando la arandela entre el tornillo y
el soporte antivibracion. Deje los tornillos sueltos
momentaneamente para que tengan juego.

Auvvitare le viti posteriore posteriori interponendo la rondella tra vite
e antivibrante. Lasciare le viti momentaneamente lasche in modo
che abbiano gioco

Tighten the rear rear screws interposing the washer between the
screw and the anti-vibration mount. Leave the screws momentarily
loose so that they have play

Ziehen Sie die hinteren hinteren Schrauben fest und legen Sie
dabei die Unterlegscheibe zwischen die Schraube und die
Schwingungsdampfer. Lassen Sie die Schrauben kurzzeitig locker,
damit sie Spiel haben

Serrer les vis arriere arriere en interposant la rondelle entre la vis
et le support anti-vibration. Laissez les vis desserrées
momentanément pour qu'elles aient du jeu

Apriete los tornillos traseros traseros que interponen la arandela
entre el tornillo y el soporte antivibracion. Deje los tornillos sueltos
momentaneamente para que tengan juego.




Inserire la vite frontale interponendo la rondella tra vite e
antivibrante

Insert the front screw interposing the washer between the screw
and the anti-vibration

Setzen Sie die vordere Schraube ein und legen Sie die
Unterlegscheibe zwischen die Schraube und die
Schwingungsdampfung

Insérer la vis avant en interposant la rondelle entre la vis et le
support anti-vibration

Inserte el tornillo frontal interponiendo la arandela entre el tornillo
y el soporte antivibracién

Avwvitare il dado poteriore con la sua rondella

Screw the rear nut with its washer

Schrauben Sie die hintere Mutter mit ihrer Unterlegscheibe

Visser |'écrou arriére avec sa rondelle

Atornille la tuerca trasera con su arandela

Avwvitare entrambe le viti frontali alla coppia di serraggio 35nm
assicurandosi che la piastra non si sia spostata dalla posizione
iniziale e che il paracoppa non risulti storto.

Tighten both front screws to the 35nm tightening torque making
sure that the plate has not moved from its initial position and that
the sump guard is not twisted.

Ziehen Sie die beiden vorderen Schrauben mit einem
Drehmoment von 35 nm an und stellen Sie sicher, dass sich die
Platte nicht aus ihrer Ausgangsposition bewegt hat und dass der
Olwannenschutz nicht verdreht ist.

Serrez les deux vis avant a un couple de 35 nm en vous assurant
que la plague n'a pas bougé de sa position initiale et que le carter
de protection n'est pas tordu.

Apriete ambos tornillos delanteros a un par de 35 nm
asegurandose de que la placa no se haya movido de su posicion
inicial y que el protector del carter no esté torcido.

stringere i dadi su entrambi i lati a 20nm

tighten the nuts on both sides to 20nm

Ziehen Sie die Muttern auf beiden Seiten mit 20 nm . an

serrer les écrous des deux cotés a 20nm

apriete las tuercas en ambos lados a 20 nm




Stringere le viti anteriori di fissaggio del paracoppa a 20nm

Tighten the front screws of the sump guard to 20nm

Ziehen Sie die vorderen Schrauben des Olwannenschutzes mit
20nm fest

Serrez les vis avant du carter de protection & 20 nm

Apriete los tornillos frontales del protector de carter a 20 nm

Stringere le viti posteriori di fissaggio del paracoppa a 20nm

Tighten the rear sump guard fixing screws to 20nm

Ziehen Sie die hinteren Schrauben, mit denen der
Olwannenschutz befestigt ist, mit 20 nm . fest

Serrez les vis arriére fixant le carter de protection & 20 nm

Apriete los tornillos traseros que sujetan el protector del carter a
20 nm

Stringere le viti posteriori della piastra di fissaggio del paracoppa a
20nm

Tighten the rear screws of the sump guard fixing plate to 20nm

Ziehen Sie die hinteren Schrauben der Olwannenschutz-
Befestigungsplatte mit 20 nm . fest

Serrer les vis arriére de la plaque de fixation du carter de vidange
a 20 nm

Apriete los tornillos traseros de la placa de fijacion del protector de
carter a 20 nm

Stringere le viti anteriori della piastra di fissaggio del paracoppa a
20nm

Tighten the front screws of the sump guard fixing plate to 20nm

Ziehen Sie die vorderen Schrauben der Olwannenschutz-
Befestigungsplatte mit 20 nm . fest

Serrer les vis avant de la plaque de fixation du carter de vidange a
20 nm

Apriete los tornillos frontales de la placa de fijacion del protector
de carter a 20 nm

Possiamo ora avvitare i due coperchi laterali

We can now screw the two side covers

Jetzt kdnnen wir die beiden Seitendeckel verschrauben

On peut maintenant visser les deux caches latéraux

Ahora podemos atomillar las dos tapas laterales.

Gamma Zinken
viale Lombardia, 10 D
20081 Cassinetta di Lugagnano -MI-
tel. +39 02 9425210 r.a. - fax. +39 02 89420622
info@gzsportexperience.it - www.gammazinken.it




